-
-
-
-

FroN—2HH

2020.3.2@» 4.30®

-
-
-
-

FA—IAD—TIREABROZEREICEBML.

HERA-IAD—HRKICRINOZEZRZRY. E<EHILBLETET.

[A2y TN —=X 4H-1F v+ o] 2EEHLELE.

B, COBFICTHRATE.

MR

5 TLEY MR
CHEARGHORBES
EEETHEEET.

avovvo
A-LT-SFT

UEUTED | M3~M24 (BE227 457 1) | M3~M12(BRE1 7747 13)

ATy A-POT
GBUTRR) | M3~M24 (BE227 47 1) | M3~MI12(RE177 45 15)

HEE (TENE) ICESORBICRUET.

#TUEVMRRTEASPORRERETETOIEERT,
HEBEEHNZLCHARLTBUER TN, SUNOREMEID D2 ESHHNET.
FASMEARBICOETRRTBRLRESBFHFFEAOTHRIDRETITREVET .

OvIvvro
A-LT-POT



IS W AZvT 0= 401 F4 A=

AFEZBAICOE1IERTLEM b
“TLEVNRR. CBARSHosRERtsethzEr 2020.3.2(04.309
ANASIT T (IEUTRE) RAV b w7 (BYTTH)
|7vev g
B8 |v—No| WU |Eif|mE|Eems sE | am B& |v—LNo|  m  |m|wEE|eems| sz | s
8325269 |M 3% 05 2,500/ & * 8325069 [M 3% 0.5 2,480 * *
8325283 [M 4% 0.7 2,470H = * 8325083 |M 4% 0.7 2,450 x x
8325290 M 5 X 0.8 2,480H x x 8325090 |[M 5x0.8 2,470 Py P
8325297 |M 6% 1 2,550/ * % 8325097 |M 6 1 25008 & #
8325307 |M 8 1.25 3,308 & * 8325107 |M 8 1.25 32808 * &
8325317 IM10X 1.5 4,030 E ¥y 8325117 |IM10X 1.5 3.930H x F
8325321 |IM10 X 1.25 4,030H x x 8325121 [M10 X 1.25 3,930 S x
8325330 |[M12X 1.75 52608 = = 8325130 |[M12X 1.75 51408 & #
8325334 |[M12X 1.5 5,2608 & x 8325134 |[M12% 1.5 51400 & x
8325337 |M12x1.25 5,260M F x 8325137 |[M12x 1.25 5,140M P F:S
pEy |E325347 [Miax2 ool 1o | 75208 * Bl | ppor (8225147 Mrax2 o |ro 73608 * *
8325350 |[M14 1.5 75208 x = 8325150 [M14% 15 73608 & x
8325357 |[M16x 2 9,708 x & 8325157 [M16% 2 9,520/ = &
8325360 |M16X 1.5 9,700 F:N x 8325160 [M16X 1.5 9,520 s PN
8325367 |[M18 2.5 12,8007 * x 8325167 |M18X 2.5 12,5008 m %
8325370 |[M18X 15 12,8003 * * 8325170 |[M18x 1.5 12,500/ & *
8325377 |M20 X 2.5 15,9003 & * 8325177 |[M20 X 2.5 15,6008 & &
8325380 |[M20 X 1.5 15,900H S x 8325180 [M20 X 1.5 15,600H ® Py
8325387 |M22% 2.5 20,300/ x * 8325187 |[M22 X 2.5 19,8008 & zs
8325390 |M22 X 1.5 203008 & * 8325190 |[M22% 1.5 19,8008 x &
8325397 |[M24x 3 25,500M Fi i 8325197 (M24 % 3 24,700 F:N Py
8325400 |[M24 X 1.5 25,500M x * 8325200 |M24 X 1.5 2470073 & *
8326210 |M 3x0.5 X100 5,000/ * & 8326010 |M 3% 05 x100 4,820 = *
8326214 |M 4% 0.7 X100 45808 * * 8326014 |M 407 x100 4,390F9 % *
8326218 |[M 5x0.8 X100 41008 = * 8326018 |M 5% 0.8 X100 39408 * *
8326222 |M 6x1 X100 4,2008 * x 8326022 |[M 6%1 X100 4,040/ * x
8326223 [M 6%1 X150 5,590/ * * 8326023 [M 6 X1 x150 5,390/ & *
8326232 |M 8 1.25 X100 4,940/ x & 8326032 M 8% 1.25 X100 47300 * *
8326233 |M 8% 1.25 X150 66609 # & 8326033 |M 8% 1.25 X150 6.400M & x
8326244 |[M10X 1.25 X100 55908 ® &  [326044 | mr0x 125 x100 5,390/ & *
AT SF | 8326245 [ 10X 1.25 X150 | 2.5p | STD | 7.79079 * #| AT PO 8326045 [M10x 1.25 X150 | 5 |STD| 75107 & %
8326246 M10x 1.5 X100 5,590 F:N F: 8326046 |M10X 1.5 X100 5,390 E:S &
8326247 (IM10x 1.5 X150 7.790H FiS x 8326047 IM10X 1.5 X150 7,510 x &
8326256 |M12x 1.25 X100 6,450 x x 8326056 |M12x1.25 X100 6,210H4 S iy
8326257 |12 1.25 X150 9.180F3 * * 8326057 |M12x1.25 X150 8,8401 & &
8326258 IM12Xx 1.5 X100 6,450H S * 8326058 [M12Xx 1.5 X100 6,210 F: F
8326259 |[M12x 15 X150 91808 * & 8326059 [M12x 15 X150 884013 x &
8326260 |M12 X 1.75 X100 6,450M x x 8326060 [M12 X 1.75 X100 6,210M FS FS
8326261 |[M12x 1.75 X150 9,180M Py * 8326061 [M12 X 1.75 X150 8,840M FiN x
a5t m & * st B £ x
¥TLEYFRBECBARTPOREERESE TV EEET,
HEBENSTRELTHYETH, SUN0BRaNA I3RS S,
HREEGERCOE, ERERESSTHEREFEAOTHEIDBICEEEAVET.
W1 YROBRECRATEL
JUHF BEZ )
BitE
e TEL 052-361-6666 FAX 052-362-0866
TEL ( ) — J
THEES z—Iz 1* _‘ = *t https://www.osg.co.jp/
F-197.2020.02(DN)




